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wppbllk [ B8 1 FIE ] kkkrkkk

No. 1 4 6 8 13 15 18 &t *#IE

E F A WTF WTF WTF WTF WTF WTF WTF g 2

4 2B F ook skokok skokok skokok skokok skl skkk 21 1P
6 KB *=& Bokk skokk kkk kdok fokk ckkk kkk 21 1 P

8 kH = sk skokk kokk kokk kekk kkk kkk 21 1 P
15 {&f%k  #2ah Bokk skokk kkk kdok ok skkk kkk 21 1 P
26 ¥ IE sokok skokok skokok skokok skl skl skkk 21 1P
2 ER = sokk kokk kokk skokk kkk skkk kkk 21 1 P
34 LA EE sk skokk kokk kokk kekk kkk kkk 21 1 P
39 ZZA RiF sk skokk skokk skekk skekk skekk skekk 21 1P
45 5 ERI sk skokk kokk kokk kekk kkk kkk 21 1 P
46 fniE  JIE— sokk kokk kokk skokk kekk skkk kkk 21 1 P
48 K¥ = sk kokk kkk kokk ok dkk kkk 21 1 P
52 #®YE [EE sk Rk kel sklk skkk ckkk kekk 21 1 P
64 J\ff #HHKZ sk Rokok KKk Rkok kkk kkk kkx 21 1 P
N X% *73 Bokk skokk kkk kdok ok ckkk kkk 21 1 P
74 W= BEX sk skokk kokk kokk kekk kkk kkk 21 1 P
16 TBR {E=E dobok ook kokk fokk sklok fokk kkk 21 1 P
17 1Ly H=x sk kokk kkk ckokk ke kkk kkk 21 1 P
89 K#F & sokk kokk kol sk kkk skkk kkk 21 1 P
93 WA it sorok skkok skt ko kkok kkk kkk 21 1 P
102 B H— sk skkk skkk kekk kkk kel kkk 21 1 P
105 FH Al dolok shokk kkok fokk okok skkk kkk 21 1 P
127 #a K #ik dobok ok kokok ok sklok ok kkk 21 1 P
128 AR Xt sk kokk kkk kkk skkk kkk kkk 21 1P
133 HE &R sk skkk kkk kkk kkk kel kkk 21 1 P
136 YEER 1@ sokk kokk kkk kkk kkk kkk kkk 21 1 P
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No. 1 4 6 8 13 15 18 &&F #HIE
E F A WTF WTF WTF WTF WTF WTF WTF NE sz
4 %8 &F fkk kk K skkk sokk okkok 15 4P
6 KB F=&E ok ok okk ok kkk ok ok kkx 14 6 P
8 kH fi= * EE sk ok 8 15
15 {E@k  #Cah * * K kK 5 21
26 EF IE x % ®kk ok k] 17
2 &kl = * EEE *ok 7 17
34 WA EE sk kokk kk ko kkk kk kkk 18 2 P
39 ZFH R *kk Ok *x ok 6 20
45 5 ER * %k kkk kk ok x ok k x 12 9P
46 fniE  JIE— *ok % %k k %k %k %k kk kkk 13 8P
48 Rt E sk kK K kkk Rk xxx 16 3P
52 FE & 0 25
64 J\#f HHKZ X % o x5 21
X% *73 ok ok okk ok ok kkx 12 9 P
4 WE EX x % ok ok k 11T
16 LtHER {5 k ok ok kR ok bk ok 11 12P
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77 Wi H=x * * ok ** 5 21
89 K¥f & fokk k k ok okk skk xkkk 14 6 P
93 EHE Xif * ok * 4 24
102 B H— % k  kk kk kk kk bk xk 15 4 P
106 FEE Al * ok ok kkk ok kk 9 14
127 #a K 8k * ok Rk Rk kK x % 10 13
128 AR &t sk kkk ek Rk kkk kkk Rk 19 1 P
133 HE &R sk kkk ok ke % % 12 9P
136 YE&F & * k k k ok ok kK 8 15
TR = 1
solroikork [ BEIRRE ] kel
No. 1 4 6 8 13 15 18 &Ft HFE
E F A WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ WTFQ NE sz
4 %8 &F *RRE KK K kX sk k% 14 5P
6 KB§ F= Hokk % sofkok ok slokk kk kkkk 200 2 P
34 1A #E X kox ok ok kkek ok ok ok 12 ]
45 5iE ER dk ok okk ok *okok 10 10
46 Mgk IE— *kk kR ok x k ek 120 ]
48 K#F = solkk kkoksk kkokk  kekk skokkk ok k kkkk 260 1 P
1 X% ¥7d kK Rk K X ok ok wkk 12 ]
716 TtBR {E=E * % % ok ok kk k k kk x  kkk 15 4P
89 K+t & *x % * * %k k% 8 11
102 B H— sokk kokkok % kk ok * 14 5P
128 AR B4 dolok slokkok ok okk kokkk kk ok 17 3P
133 HH &R ok * % sokk 8 11
fTeIR%k = 14
ookl [ R B ] wpblorxk
No. 2 F K % 1 4 6 8131518 JEfZ
E B Waltz
4 B & 3 55 3 6 5 3 50
6 KB & 5 4 4 5 1 3 2 3.0
48 K¥t =£ T2 122 1110
76 tHEn 8= 2 6 2 6 4 4 4 40
102 B ff— 4 3 6 45 6 5 6.0
128 AR e 6 1 3 1 3 2 6 20
2 H Tango
4 B & 3 55 3 6 3 3 3.0
6 KB & 2 46 6 2 6 2 6.0
48 K¥t £ T3 1 41 41 10
76 tHEh 8= 4 6 3 5 4 2 4 40
102 B ff— 5 2 41 3 5 5 50
128 AR e 6 1.2 25 1 6 20
E B V.waltz
4 B & 1 56 43 2 4 30
6 KB J&E 3 4 55 6 6 5 6.0
48 K¥t =£ 2 2215 3110
76 tHEh 8= 5 6 1 3 45 2 50
102 B ff— 4 3 3 2 2 4 3 20
128 AR e 6 1 4 6 1 1 6 40
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8 H Fox trot
4 %8 & 1 55 46 2 2 4.0
6 KB *= 3 6 2 2 1 3 4 20
48 K¥ = 211121110
16 tEh E=x 4 4 3 5 4 5 3 3.0
102 B H— 5 3 6 6 3 6 5 6.0
128 AR B4 6 2 4 3 5 4 6 5.0
8 H Quick step
4 %8 & 2 54 2 6 3 2 20
6 KB *= 3 4 2 5 3 4 3 3.0
48 K¥ = 1111 1 11 1.0
16 tEh E=x 6 6 3 6 45 5 6.0
102 B H— 4 3 6 3 2 6 4 4.0
128 AR B4 5 2 5 45 2 6 50
HWEBER
No.  F K 4 W T V F Q A&it #é
4 %8 & 503.03.04.02017.0 2.0
6 KB F= 3.06.06.02.03.020.0 4.0
48 K¥ = 1.01.01.01.01.0 50 1.0
16 tEh E=x 404.050306.022.0 5.0
102 B H— 6.050206.04.023.0 6.0
128 AR B 2.02.04.05.05.018.0 3.0
1 IWARFEF
4 EIBET
6 /NATEE
8 ARIE=
13 AKX
15 ZiBEH
18 MR
srkorkork [ ERIRFER ] kkkkkk
EEE EBRFEE M E F K £ IN— b+ F—4 BB
4 13007002 N %8 & INE RRE B OE FE2
6 13002420 B KB H*&E mE AEF B O $4
8 13003021 B xkFH #i= XKHF EFF B & ®’¥
15 13003108 B {k£@& #Cah H ZTHF B F 3
26 13001886 B EF 1E E¥ EF B & ®¥%
32 13003736 B &7 = | ST B F e
34 13002247 B WA #E ®kik R B H AR
39 13000987 B #H RiF %’ TEF B F g
45 13003335 B =& &Rl =i FHKF B & AR
4 6 13002846 B Nk IE— FH FE B H AR
4 8 13003801 B K#f = ® EXE B R %EA1
52 13000069 B Z#E¥E FEE BHE] AFE B H 3
6 4 13001570 B J\§# #2{t=— \ifh EEF B H ®’¥
7 1 13003172 B X% #*7 & EF B F AR
7 4 13001066 B fIE BEkX AN =8 B & ®’¥
7 6 13003671 B *Ef {E3% IR FEF B H E5
7 7 13003564 B LUy FHH A ¥ B & ®¥
8 9 13000715 B XK#f & gk EEF B H AR
O 3 13003385 B [H X A BT B & ®’¥
102 13000294 B B f— B #HR B H F6
105 13000484 B &FHL Al TR VEH B & ®¥%
127 13000666 B #AK &k R E1 I S 2
128 13003373 C AR ZE# AR EEF B H E 3
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3000635 B HE EH B Fi EOHERM
; EE AT x N pTE

133 1
136 13003096 B IEZp 12
149 1
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